Institute of Computing & ICT
Ahmadu Bello University, Zaria.

First Semester STAT 207 (Introduction to Statistics  II) C.A Test(LEC. GRP 2 only)

INSTRUCTIONS: Answer all Questions 			Time allowed: 40mins.

1. A ball is drawn at random from a box containing 6 red balls, 4 white balls, and 5 blue balls. Determine the probability that the ball drawn is (a) red, (b) white, (c) blue, (d) not red, and (e) red or white.
2. If a Ahmadu Bello University, Zaria purchases a raﬄe ticket, she can win a ﬁrst prize of N50000 or a second prize of N 30000 with probabilities 1/1000 and 3/1000. What should be a fair price to pay for the ticket?

3. [image: ]Find (a) E(X),( b) E(X2), and (c) Efor the probability distribution shown in table below.
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EMATICAL EXPECT

1f a man purchases a raffl ticket, he can win a first prize of $5000 or a second prize of $2000 with
probabilities 0.001 and 0.003. What should be a fair price to pay for the ticket

soLuTIoN

His expectation is ($5000)(0.001) + (52000)(0.003) = §5 + $6 = $11, which is a fair price to pay

venture a lady can make a profit of $300 with probability 0.6 or take a loss of
$100 with probability 0.4. Determine her expectation.

soLuTIoN

Her expectation is ($300)(0.6) + (~$100)(0.4) = $180 — $40 — $140.

Find (a) E(X), (b) E(X’), and (o) E[(X — X)*)] for the probability distribution shown in
ble 6.3

(d) Give the EXCEL solution to parts (a), (b), and (¢)

Table 63

soLuTIoN
@ EX)= ¥ Xp(0) = ©)E) +( @+ EOd + (2 . the mean of
the distribution,

) B = ¥ Xp(X) = §7@) + (1270 + 1676 + 0P + (24 this represents. the
second moment about the origin 7cro.

© S0 X)) = 8- 167 @) + (2 167D + (16 20 - 167 ()1
(24— 16)7() = 20; this represents the variance of the distribution.

The labels are entered into AL as shown. The X values and the probability values are
entered into A2:B6. The expected values of X are computed in C2:C7. The expected value is
given in C7. The second moment about the origin is computed in D2:DT. The sccond
moment is given in D7. The variance is computed in E2:E7. The variance is given in ET.
c o E
Xol) Xr2p() (X~ EQON2PlX)
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